Yals\®

UAnS”

FAkSEEH

CBTR&EHE

For servo motor

CBT REDUCER




= SEE
B H = R Serles » Features

4% Y-HE #EE 14D

(T}
=«
-]
=
1]
o
c
8
=]
=
=
8 ; ) .
3 =3 = High precision
o e s e Standard backlash is 3 arc-min, ideal for precision
HIRARA3S . ALK control.
= = High rigidity & forque
S, S g HgIay & 1o
o N High rigidity & high torque was achived by uncaged
A% 1) B RE KR AT 7R, K KRG T Al fedide needle roller bearings.
£ 7027 Space - saving
2 00 o 2 o A A Ay o Right angle reducer using spiral bevel gear
E‘):i /)S‘S(‘ﬁi%4i)ﬂ f%i»ﬁi\‘-% %‘%’ BEHER Costomer can locate the motor at 90 degree away
TRIOE S W, Al T R, from the reducer if required to save space.

Bl WEDI Adapter-bushing connection

A B R AT — 2 B b Can be attached to any motor all over the world.
) \‘ b\‘ \\
R EE MG No grease leakage
1R SAEE . RS EAEER, ARk Perfect solution by high viscosity anti-separation
PR RS R grease.
HEETTIE Maintenance-free
. R o R No need to replace the grease for the life time.
ﬁé%%éﬁ,ﬂ V‘] ﬁ%ﬁ#ﬁﬂ Y?J'HE, ‘T&‘%ﬁﬂ'ﬁ?ﬁo Can be attached in any position.

&} http://www.cbtgear.com.tw




g, BUSRACHR

Model Number

BHO60R — L1 S 10 — Bl — D1 —— S7 - Y
X
BHO042R A X .
BHO60R D1( /b A 4%)
N2 _‘Aﬂ.
BHO90R D22 8By
BH120R
BH150R I BimkaAm/ g Bk
BH180R BI=#H%H % BEG RN, B 5E
—B<3h. <54
BH220R s e
L1 (—F& ) Bo=AZ 4 % %
L2 (=R —B <54, —B<8H
L3 (=8 ) <129
R N S T L =
Siciﬂcations Single Stage Ratio(L1) Double Stage Ratio(L2) Triple Stage Ratio(L3)
BHO42R 3,4,57,10 | 12,15, 16,20, 25 30, 35,40, 50, 70, 100
BHO60R 3,4,57,10 | 12,15, 16,20, 25, 30, 35,40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BHO90R 3,4,5,7,10 | 12,15 16,20, 25,30, 35,40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BH120R 3,4,5,7,10 | 12,15 16,20, 25,30, 35,40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BH150R 3,4,5,7,10 | 12,15 16,20, 25,30, 35,40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BH180R 3,4,5,7,10 | 12,15 16,20, 25,30, 35,40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BH220R 3,4,5,7,10 | 12,15 16, 20, 25,30, 35,40, 50,70, 100 | 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000

http://www.cbtgear.com.tw m

¢%Y-HE #EW 189D

souas Y-Hg 19onpaY | g9




4ee—8&

Performance table

BHO042R
g R Y Ratio 3|45 | 7101215 |16 |20 | 25|30 |35 |40 | 50| 70 {100
:! ZEEMB AL T Nominal Output Torque Tax Nm 20 (19 |22 |19 |14 | 20|20 |19 |19 | 22 |14 |19 |14 |14 | 14 | 14
r% RSB Tonor Emergency Stop Torque T anor Nm KI=tChal antiag .
&= ZEEWMANER niy Nominal input Speed n;y rpm 3000
g ReMAER np Maximum input Speed ng rpm 6000
I: HEm% Torsional Rigidity Nm/arcmin 3
z-g B EQBT Fus Permitted radial load Fs N 780
- BEFEHEERE Fos Permitted axdial load F,s N 350
E [EzzE=tn] Service Life hr 20000 (GEEEESGHRE)
g EEE) Noise dB <65 (EAER=3000rpm, ZE&. IPHE1m)
§ ERERE Operating Temp °C -10 ~+90°C
@ PHEEZE R Degree of Gearbox Protection IP65
=z R Lubrication SHEBENE (ESHR)
8 WEIEE ), S e || ey |0k \ 003 \ 003 \ 003 \0.03 0.03 \0.03 \0.03 \ 003 \ 003 \0.03 \0.03 \0.03 \0.03 \0.03 \0.03
@ == Weight Kg 0.55 0.85
¥EIRES A Bl Precision Backlash B1 arcmin <5 <8
B B2 Standard Backlash B2 arcmin <8 £12
WEE n Efficiency n % 295% 292%
BHO060R
peguel Ratio 3|45 | 7|10 (12|15 |16 |20 | 25|30 |35 |40 | 50| 70 {100
REE I HIE Ton Nominal Output Torque Tan Nm 45 | 50 | 60 | 50 | 40 | 45 |45 | 50 | 50 | 60 | 45 | 50 |40 | 40 | 40 | 40
=SB Tonor Emergency Stop Torque T axor Nm 3R EIR B BE
ZEEMAER ny Nominal input Speed nyy rpm 3000
RSRAER n; Maximum input Speed nys rpm 6000
HEm%E Torsional Rigidity Nm/arcmin 7
BEHEOAEE Fus Permitted radial load Fg N 1530
BEFHABRE Fus Permitted axdial load Fyg N 630
FREH Service Life hr 20000 (EEEESGRT )
RS1E Noise dB <65 (#AER=3000rpm, Z2&, FBE1m)
TRRE Operating Temp € -10 ~ +90°C
PHEZE R Degree of Gearbox Protection P65
bebics Lubrication SHEEBHE (ReEEB)
EEHEE ), Mass Moments of inertia J; kg-em? 10.18 ‘ 0.14‘ 0.13 ‘ 0.13 ‘ 0.13(0.14 ‘ 0.13 ‘ 0.14 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.03 ‘ 0.03
88 Weight Kg 1.32 1.65
BRER B Precision Backlash B1 arcmin <3 <5
IEREAS IR B2 Standard Backlash B2 arcmin <5 <8
M 1 Efficiency n % 295% 292%

iﬁ http://www.cbtgear.com.tw




e

Performance table

BH 090R

g Ratio 3|4 |5 | 7[10(12|15|16 |20 | 25|30 |35 |40 | 50| 70 |100
FAEIMEB AL Ton Nominal Output Torque Tan Nm 130|140 | 160 | 140 | 100 | 130 | 130 | 140 | 140|160 | 100 | 160 | 100 | 100 | 100 | 100
SRAE Tonor Emergency Stop Torque T anor Nm ST IR HE
ZHEMAER ny Nominal input Speed ny rpm 3000
RERAER N, Maximum input Speed ny rpm 6000
HERIE Torsional Rigidity Nmy/arcmin 14
B EQBE Fos Permitted radial load F,;s N 3250
BFHEOETE Fos Permitted axdial load F, N 1300
Ed==E= Service Life hr 20000 (EEEESGRY )
SEE Noise dB <65 (BAEER=3000rpm, ZZ&. FHEE1mM)
ERRE Operating Temp °C -10 ~+90°C
BHEEZE R Degree of Gearbox Protection IP65
bebi] Lubrication SREBEE (REHSB)
wHEE ), Mass Moments of inertia J; | kgem® | 061]0.48| 047|045 |044] 061/ 047] 048|047 | 047|047 | 047|047 | 0.44 | 013|013
58 Weight Kg 4 5.2
FERER B Precision Backlash B1 arcmin <3 <5
EHEE R B2 Standard Backlash B2 arcmin <5 <8
W& 1 Efficiency n % 295% 292%

BH120R

e ynd Ratio 3|4 |5 |7 |1012|15 |16 |20 | 25|30 |35 |40 | 50 | 70 |100
ZATEIEBIRTE Ty Nominal Output Torque Tan Nm 1208|290 | 330 | 300 | 230 | 208 | 208 | 290 | 290 | 330 | 230 | 300 | 230 | 230 | 230 | 230
RSB Tovor Emergency Stop Torque Taxor Nm 3T LA
BEMAER ny Nominal input Speed nyy rpm 3000
RERMAER ng Maximum input Speed nyg rpm 6000
THEm4 Torsional Rigidity Nm/arcmin 25
BHFEEEE Fos Permitted radial load F,g N 6700
BFHEETE Fos Permitted axdial load F, N 3000
{ERSH Service Life hr 20000 (E@EEESHRHL)
IRS1E Noise dB <65 (EAER=3000rpm, ZE&;, EEE1M)
ERRE Operating Temp C -10 ~ +90°C
PHEZER Degree of Gearbox Protection P65
Ve Lubrication CREREE (REEB)
WENEE ) Mass Moments of inertia J; | kgem? |3.25| 2.74| 271|265 | 257|325 | 27| 274 | 257 | 267| 257 | 257| 257 | 257] 0.44 | 044
58 Weight Kg 8.6 11.2
BBER B Precision Backlash B1 arcmin <3 <5
EHEE R B2 Standard Backlash B2 arcmin <5 <8
M= 1 Efficiency n % 295% 292%

http://www.cbtgear.com.tw iﬁ

1499

4
13
N

=
B
&
-}
T
-
Pl
b

salas Y-HY ‘82npey 199




189

&=
=
iy
=
ol
2

Salas {-Hg 1@onpay 199

4ee—8

Performance table

BH 150R

R Ratio 3|4 |5 |7 /|10|12 |15 |16 |20 | 25|30 |35 |40 | 50| 70 {100
RATEMLRTE Ton Nominal Output Torque Tan Nm 342|542 | 650 | 550 | 450 | 342 | 342 | 542 | 542 | 650 | 450 | 550 | 450 | 450 | 450 | 450
A Tanor Emergency Stop Torque T anor Nm EEATE IR LB
BBEMAER iy Nominal input Speed nyy rpm 3000
BRERAER ng Maximum input Speed nyg rpm 6000
THEm Torsional Rigidity Nm/arcmin 50
B EQBE Fos Permitted radial load Fyg N 9400
BFHEEE Fors Permitted axdial load Fs N 4700
[El==E=) Service Life hr 20000 (EEEESGRT )
2518 Noise d8 <65 (EAEE=3000rpm, ZE&, FEHE1M)
ERRE Operating Temp °C 210 ~ +90°C
PrEE 1R Degree of Gearbox Protection P65
hesh=s Lubrication SEEBBE (ReE8)
WHIEE ), e s e et [921]7.54|742|7.14|7.03] 921|703 7.54 | 703 7.03| 703 7.08| 257 | 257| 257 | 257
B85 Weight Kg 15.2 19.6
BERER B Precision Backlash B1 arcmin <3 <5
B[R B2 Standard Backlash B2 arcmin <5 <8
WE n Efficiency n % 295% >92%

BH 180R

fagud Ratio 34| 5| 7|10|12[15|16 |20 | 25|30 |35 |40 | 50| 70 {100
FATEIMEBHFE Ton Nominal Output Torque Tan Nm 590 [1050(1180|1000| 900 | 590 | 590 |1050(1050{1180 | 900 {1000 900 | 900 | 900 | 900
Z{SBE Tonor Emergency Stop Torque T anor Nm 3fEREE IR LA
FHEBMAER ny Nominal input Speed nyy rpm 2500
REWRAER N, Maximum input Speed n;g rpm 5000
HERIE Torsional Rigidity Nm/arcmin 145
BEEEEH Fae | Permitted radial load Fa N 14500
BDEreEBE Fos Permitted axdial load Fyg N 7000
EREs Service Life hr 20000 (EEEEZoHE )
BSE Noise dB <65 (MAEE=1500rpm, Z2H. FEAE1Im)
ERRE Operating Temp oC 10 ~ +90°C
PHEEZR Degree of Gearbox Protection IP65
bebi] Lubrication BREBHE (REHB)
EEBE ), Mass Moments of inertia J; kg-cm? 28.98‘23.67‘23.29‘22.48‘22.51 28.98‘22.51‘ 23.7 ‘22.51‘22.51‘22.51‘22.51‘ 7.03 ‘ 7.03 ‘ 7.03 ‘ 7.03
58 Weight kg 290.8 34.6
BRER B Precision Backlash B1 arcmin <3 <5
EAER B2 Standard Backlash B2 Elic <5 <8
WA n Efficiency n % 295% >92%

ﬂ} http://www.cbtgear.com.tw




*eE—E

Performance table

BH 220R

P ud Ratio 3|4 |5 | 7[10(12|15|16 |20 | 25|30 35 |40 | 50 | 70 |100
ZETEIBRR Toy Nominal Output Torque Tan Nm 1140(1800{2000|1700|1500 {1140 {1140{1800 1800 {2000| 1140|1700/ 1500|1500{1500|1500
RISHEE Tonor Emergency Stop Torque T axor Nm 3fEREE WL HE
ZEEMAER niy Nominal input Speed nyy rpm 2000
RSRAER n; Maximum input Speed nys rpm 4000
R e Torsional Rigidity Nm/arcmin 145
BHEAET Fs Permitted radial load Fg N 14500
BEFHABRE Fus Permitted axdial load Fys N 7000
& Service Life hr 20000 (EEEHS=0EHE )
BSE Noise dB <70 (ERAEE=1500rpm, ZC&. IBEE1m)
FERRE Operating Temp °C -10 ~ +90°C
PrEEER Degree of Gearbox Protection P65
feepe Lubrication BREBBE (RE88)
WEIEE Mass Moments of inertia J, | kgem? _|69.61/547/53.2750.97| 50.56/50.56] 50.56/50.56]50.66| 50.56| 22.51] 22.61| 2251 2251 22.51| 2.5
58 Weight Kg 49.5 61
BEBEIR B Precision Backlash B1 aremin <3 <5
IEHEHE B2 Standard Backlash B2 arcmin <5 <8
MEE 1 Efficiency n % 295% 292%

http://www.cbtgear.com.tw ﬁ}

1499

[’
13
N

ﬁ
m
&
-}
T
=
H
g

souas Y-Hg 199npaY | g9




RY—%8

@ BHO42R-L1 ( —# )

Size Schedule

#Hi% outputs BAI\IR Input

()
-]
= 42*42 112 cT*CT
= 5 26 86
r:g \ 5.5 4
-] < % 19.5 = A
== 2 16 <O
z Eler [—
= | m N— | - -
& & g2 i
034 SN O g
g H s ) = ¥
=] I T |
X
g « |
= o N
E s - = _
g #C1
|= PC2
S
g' #13 013
M4x0.7P M4x0.7P
gh SE—
\! L F=p——
15 10 I 10
Shaft Option 1(D1) Shaft Option 2(D2)
B3 mm
Bk
Motor Mark
s R S1 S2 S3 S4
Input Size
XC1(H) 8 8 5 5
XC2 (H) 30 30 22 22
XC3 45 46 43.8 325
xC4 M4 M4 M3 M3
XC5 3 3 3 3
XC6 26 26 26 26
XC7 42 42 42 42
Note:

E:

1.“2%” The size can be customized according to the actual size
of the motor. Please contact our company if necessary

LR TRIESETHRR TR, A FEHFWMARKE,
2. K BRART, Mg HEMRRMRTEA L,

2. “3% %”For maximum size, the mounting motors vary in size.

{2} http://www.cbtgear.com.tw




= RY—8
B H = H SE"es Size Schedule

@ BHO42R-L2 ( —# )

IHI% outputs B\ Input g
42*42 : 139 - 77 ;Q'!
950 6 3 m
\ 55, |4 %
S % 19.5 = /| -}
2 16 O I=
gl =
N HE ° T - 3
5 " )
234 | g
‘g Lo —i ) = % (T
-]
T I -
. | 2
O — (X
) c
o lT= g
o | -]
#C2 =
=
]
=
913 )
M4x0.7P M4x0.7P
@ . s
55 |10 |
Shaft Option 1(D1) Shaft Option 2(D2)
B45: mm
BTk
Motor Mark
MABRT s1 52 s3 s4
Input Size
XC1(H) 8 8 5 5
XC2 (H) 30 30 22 22
XC3 45 46 43.8 32.5
XC4 M4 M4 M3 M3
XC5 3 3 3 3
XC6 26 26 26 26
XC7 42 42 42 42
E: Note:

. 5 . . . 1.3%” The size can be customized according to the actual size
e . S =R ~ 5y =+ w4 = g
L. X KTT’]‘@{J}L%%E g K’j‘ %‘J ’ iuﬁé‘ o gvﬂ W % %(‘ Ao of the motor. Please contact our company if necessary

i g
2. %X P A%Il‘aij'\)(ﬂk y E‘iﬁ%%ﬁ%@éﬁ;ﬁ 5] %Kf@ﬁﬁﬁ 10, 2. “% %”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw {m}




= Ry=8
B H = R se"es Size Schedule

@ BHOGOR-L1 ( —+# )

HIHI®  outputs BAINIR Input
60*60 158 C7*C7
37 91

4% 4Y-HE #EH 18I

2
/-
916 (h6]
|
2
1 O
xx 117

4
850 (h7)

|

—J

N7

(1]
-]
=
> | 11
3
] 1. ==
g o i
E - = _
|= 9Cl
» PC2
®
=1 16
) )
» 916

M5x0.8P M5x0.8P

g ( ™ SR
N e T ]

18 12 12
Shaft Option 1(D1) Shaft Option 2(D2)
B45. mm
BHigik
Motor Mark
o RF S1 S2 S3 S4 S5 S6 S7 S8
Input Size
XKC1H) 8 8 11 14 14 14 14 6.35
XC2 H) 30 30 50 50 50 70 70 38.1
xC3 45 46 70 70 70 90 90 66.7
XC4 M3 M4 M4 M4 M5 M5 M6 M4
XC5 3.5 3.5 6 6 6 6 6 35
xC6 32 32 32 32 32 40 40 32
XC7 60 60 60 60 60 80 80 60
E Note:
| B R TRIEBERIER T4, Wk EBEHARK 1.2%” The size can be customized according to the actual size
RS : RAp My RN, R 30 iR 4R o of the motor. Please contact our company if necessary
2. %‘X P )%Irij'\){ﬂ" , %%%ﬁ%@éﬁx 5] %Rf@%‘ Fir 884k 2. “%%”For maximum size, the mounting motors vary in size.

ﬁ} http://www.cbtgear.com.tw




= RY—8
B H = H serles Size Schedule

@ BHOGOR-L2 ( —# )

ﬁﬁﬁﬂ:‘.ﬂ#"ﬁ outputs iﬁ)\iﬁlﬁ Input
60*60 178
37 111

450
\ ]

N TS

C7*C7

Joo

w

¢%Y-HE ¥EW 189D

#50(h7)
616 (h6

\ 5
NG I \\ = . g
e |
1| X
g
© 1| =
o n 111 g
I I — -}
Kle% =
#C2 =
8
216 é'
M5x0.8P MS5x0.8P
+
Lo
N4
18 \L
Shaft Option 1(D1) Shaft Option 2(D2)
¥4 mm
HiER
Motor Mark
s RF S1 S2 S3 S4 S5 S6 S7 S8
Input Size
XC1(H) 8 8 11 14 14 14 14 6.35
XC2 (H) 30 30 50 50 50 70 70 38.1
xC3 45 46 70 70 70 90 90 66.7
XC4 M3 M4 M4 M4 M5 M5 M6 M4
XC5 3.5 3.5 6 6 6 6 6 3.5
XC6 32 32 32 32 32 40 40 32
xC7 60 60 60 60 60 80 80 60
E Note:
o s 1.“%” The size can be customized according to the actual size
1. ﬂ’ﬂ x KjLTﬁd% Bk L;EF%SR#/{% &Dﬁ e S % ﬁ‘ ‘;] o of the motor. Please contact our company if necessary
2. '71?>< b Fjl?ik){ﬂ' [%&7‘%{ %%éﬁz 5] fﬁ){ﬂ-é}%‘ﬁﬁ' 2. “% % For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw {E}




RY—%8

@ BHO9OR-L1 ( —# )

i outputs
90*90

Size Schedule

BN Input
209.5
117

47.5

&
T
A7

4%4-HE #EH 18I

g
‘& § _ — |
065 @) g
g N — 3 — %
:
2 L | T
)
Q- o
- o |
g © o =
-]
= oC1
= #C2
»
3,
o #22 822
M8x1.25P MBx125P
H H
s S — N
[ A Azl 1
T — T =)
245 16 ' 16

Shaft Option 1(D1) Shaft Option 2(D2)

¥A%: mm
Bkt
_ Mator Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
B R+
Input Size
XC1H) 11 14 14 14 16 16 19 19 22 24
XC2 H) 50 50 50 70 70 80 70 110 110 110
XC3 70 70 70 90 90 100 90 145 145 145
XC4 M4 M4 M5 M6 M6 M6 M6 M8 M8 M8
XC5 3.5 3.5 3.5 6 6 6 6 10 10 10
XC6 32 32 32 45 45 45 45 60 60 60
XC7 60 60 60 90 90 90 90 130 130 130
e Note:
BN a2 3o e, 2k - 1.%%” The size can be customized according to the actual size
1w x KTTf&J}fi%EE%KT&%ﬂ ’ —k‘ﬂﬁ_ i %“FJ %F ‘% '&‘ ‘;J © of the motor. Please contact our company if necessary
2. %’X X %I?ik){ﬂ-, %%%EJE%K B Rﬁ){ﬂ-@%— Fir 418, 2. “% % For maximum size, the mounting motors vary in size.

{@ http://www.cbtgear.com.tw




= RY—8
B H = H serles Size Schedule

@ BHO90R-L2 ( —# )

#iHi% outputs BN Input
90*90 242.5 C7xC7
475 150

30

¢%Y-HE #EX 189D

4
DA

#80(h7)

\ o
& o
5100 | l \\ il x g
A S S E— . I +
1] . n
i z
S e Qo
: £
T = @®
°
-]
$C1 |=
#C2 =
(7]
®
=
$22 1]
("]
M8x1.25P M8x1.25P
a (
i K g N
245 16
Shaft Option 1(D1) Shaft Option 2(D2)

BHiELR
‘ Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
sk R
Input Size

XC1H) 11 14 14 14 16 16 19 19 22 24

XC2 H) 50 50 50 70 70 80 70 110 110 110

XC3 70 70 70 90 90 100 90 145 145 145

XC4 M4 M4 M5 M6 M6 M6 M6 M8 M8 M8

XC5 3.5 35 35 6 6 6 6 10 10 10

XC6 32 32 32 45 45 45 45 60 60 60

XC7 60 60 60 90 90 90 90 130 130 130
e Note:

e . 1.2%¢” The size can be customized according to the actual size
—as— =4 4% =3 g
1. 'Fﬁ. x R’J-_T{R%% it TR %KT/{% '!lﬂi]‘ e H'}F & :&‘ ‘;] of the motor. Please contact our company if necessary

2. WK BERRRT, MEE

RKBZY LB Rﬂ-é}ﬁ Fir % 2. “% %”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw w




= RY—8
B H = R Se"es Size Schedule

@ BH120R-L1 ( —# )

Euiry
#HiE outputs IR Input
258 C7*C7
1157115 65 135.5 "

% 12| 10

40

7
$110(h7)
©32(h6) .
&
| [
N
|
|
1

l4%4-HE #EX 18I

@) =
] . 1T )
*90 — — X

| I 4 i |

6

5

()
=-]
=1
=)
[1]
Qo
c
)
®
-
==]
|=
-
»
1]
=
[1]
»

$32

M12x1.75P

W

35 24

M12x1.75P

10

Shaft Option 1(D1) Shaft Option 2(D2)

s
%ﬁ}f’gﬁ’]‘ g S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
XC1H) 16 16 19 19 19 22 22 22 24 28

XC2 (H) 70 80 70 95 110 95 110 110 110 110

XC3 90 100 90 115 145 115 130 145 145 145

xC4 M6 M6 M6 M8 M8 M8 M8 M8 M8 M8

XC5 6 6 6 8 8 8 8 8 8 8

XC6 52 52 52 62 62 62 62 62 62 62

xC7 90 90 90 130 130 130 130 130 130 130
e Note:

i\ _ 5 g, _ T .- 1.%” The size can be customized according to the actual size
1L % Kqu&#}%%@ R R 2 ’ -ﬁuﬁ R A of the motor. Please contact our company if necessary
27

Vg
2. %‘X P }%fij‘\){ﬂ' s 3 %%%% NG T??JK'T%”\%_ Fr 884k, 2. “% % For maximum size, the mounting motors vary in size.

@ http://www.cbtgear.com.tw




= Ry—8
B H = H se"es Size Schedule

@ BH120R-L2 ( — % )

#itHi% outputs B\ Input

295 C7*C7

115*115

65 1725 [

450
2 12 10

7
J/gj /
$110(h7)
932(h6) |
’ & |5
I
—l

¢%Y-HE #EX 189D

n
29 | | (@) 5
2130 _| \\ — >< o
I 14 I a * =)
| /] [ | = ||| I =
8., L 2
i £
T g
#Cl -]
o
#C2 =
»
(1]
=k
[
832 #32 @
MI2xL75P M12x1.75P
N — TN
\‘ g9 @_/T w e
55 24 ' 2
Shaft Option 1(D1) Shaft Option 2(D2)

e
%li;j?&f S1 S2 S3 sS4 S5 S6 S7 S8 S9 S10
XCLH) 16 16 19 19 19 22 22 22 24 28

XC2 (H) 70 80 70 95 110 95 110 110 110 110

XC3 90 100 90 115 145 115 130 145 145 145

XC4 M6 M6 M6 M8 M8 M8 M8 M8 M8 M8

XC5 6 6 6 8 8 8 8 8 8 8

XC6 52 52 52 62 62 62 62 62 62 62

XC7 90 90 90 130 130 130 130 130 130 130
E. Note:

B . 3o ] B 2k . = 1.3%” The size can be customized according to the actual size
1. x K’J“’Tf&j@%@ R %Rﬂ- %lj ’ 'ﬁﬂi—]_ i %—“FJ L ‘% ﬁ‘ ‘;] © of the motor. Please contact our company if necessary

Vg
2. %X Zs %ﬁk){’f, %#%{'EJ}%%Z: [5] iy Kﬂ-@%— Pt 1k, 2. % %”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw ﬁ}




= RY—8
B H = R Sﬂ"es Size Schedule

@ BH150R-L1 ( —# )

Bt % outputs BAINIH Input

352.5 ey
97 185.5 25

& 12| 12

N N

140*140

w

#130(h7)
$40(h6)

l4%4-HE #EX 18I

O 5
$11 ~
- ) - i
& h3.9 :
=~ | [] R 1 [
=) | —
? | | ©
Qo Yl A N U
(= o
8 J -
;5 |sca |
=
1 $C2
=
S
é' 940 240
M16x2.0P M16x2.0P
+
e =1 @
5 ) ' 36
36 —
Shaft Option 1(D1) Shaft Option 2(D2)
Bi: mm
LORE A
Motor Mark
W R S1 S2 S3 S4 S5 S6 S7 S8 S9 S10

Input Size

XC1H) 19 19 22 22 22 24 28 32 35 42

XKC2 (H) 95 110 95 110 110 110 110 130 114.3 114.3

XC3 115 145 115 130 145 145 145 165 200 200

XC4 M8 M8 M8 M8 M8 M8 M8 M10 M12 M12

XC5 8 8 8 8 8 8 8 8 8 8

XC6 74 74 74 74 74 74 74 82 82 82

XC7 130 130 130 130 130 130 130 180 180 180

E: Note:

e . 1.4 The size can be customized according to the actual size
—aa— 4% 3 g
LR T TIREBETRRTEA, of FRFB AR of the motor. Please contact our company if necessary

o
2. 'ﬂ?>< P PJIIij'\RT Fzﬁ %t 3%‘%7(: 2] ﬂ"ﬁRT@.ﬁ P41t 2. “% % For maximum size, the mounting motors vary in size.

ﬁ} http://www.cbtgear.com.tw




~ RY—8
B H = H serles Size Schedule

@ BH150R-L2 ( —# )

#Hi% outputs B\ Input

394 C7*C7

140*140

97 227

12 12

v
o
a

#130(h7)
40(h6)
[
|
|

¢%Y-HE #EX 19D

~N
. N O g
515$ —! . — § o
1] I = i | 3
8 | —+ 2
8 T g
— | [x]
@
@C1 ;
»C2 I=
-
3
2,
?40 40 @

M16x2.0P

M16x2.0P

43 36
36 !

12

Shaft Option 1(D1) Shaft Option 2(D2)
BA5: mm
W
%h)l\pf’s)iiﬂ- S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
XCLH) 19 19 22 22 22 24 28 32 35 42
XC2 (H) 95 110 95 110 110 110 110 130 1143 1143
XC3 115 145 115 130 145 145 145 165 200 200
XC4 M8 M8 M8 M8 M8 M8 M8 M10 M12 M12
XC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 74 74 74 82 82 82
XC7 130 130 130 130 130 130 130 180 180 180
e Note:

e - 1.“%” The size can be customized according to the actual size
¥ P
1. W x RTT{&}!}% Hit ERHRT %J '!ZU%‘ i % ‘% ﬁ‘ o of the motor. Please contact our company if necessary

%

2
2. ”fﬁ'x X PJﬂikKﬂ_ ]]15, #® %ééﬁ;ﬁ [3] ‘FJKT@.*J‘ )gﬁ' [?é’fbo 2. “% %”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw




= RY—8
B H = R Se"es Size Schedule

@ BH180R-L1 ( —# )

EHI% outputs BINIR Input
394 e
105 289

% 20 15

SE =i

180*180

7/

o

©160(h7)
955(h6)

I4%4-HE #EX 18I

/
Iw
O

n
H o
213 E*\ 2
(1] Be(y 1 §
] —
- [ [| I !
z [ | [
Q_ 8
£ ° ik
3 I I,
e
o] #C1
o
PC2
=
(7]
®
=1
®
(7] #55
M20x2.5P M20x2.5P
g — (
T H o2 [yz====
N == )
P — ' )
59 . 42
42
Shaft Option 1(D1) Shaft Option 2(D2)

BHiEnIk
N Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
ANH R
Input Size
XC1H) 22 22 24 28 32 35 42 38 42 55
XC2 H) 110 110 110 110 130 114.3 | 1143 180 200 200
XC3 130 145 145 145 165 200 200 215 235 235
xC4 M8 M8 M8 M8 M10 M12 M12 M12 M12 M12
xC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 82 82 82 117 117 117
xC7 130 130 130 130 180 180 180 225 225 225
e Note:

1 %‘X Kﬂ‘q{&%@%@% PR F R4, ‘flﬂ%‘ TP L K F) 1.“3%” The size can be customized according to the actual size
R i

of the motor. Please contact our company if necessary
2. %‘X P F:;IQR/J'\Rﬂ‘ , ’%t% PN TFJR#%'%‘ B 41, 2. “% % ”For maximum size, the mounting motors vary in size.

m http://www.cbtgear.com.tw




= RY—8
B H = R serles Size Schedule

@ BH180R-L2 ( —# )

#IHI% outputs BN Input

427

180*180

105 322
20 15

N {
70 /%

#160(h7)
#55(h6) |o

¢%Y-HE #BEX 19D

lw

[i
| O
XX 249

T
)

Cc6
c5

()
-]
-
)
®
o
c
(1]
o
-
=]
o
=
[74]
1]
=.
®
(]

955 #55

M20x2.5P

M20x2.5P

2! 1N 1
= 1.
e — =
59 ' 42
42 —
Shaft Option 1(D1) Shaft Option 2(D2)

%45 mm
B
i Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
I R
Input Size
XCLH) 22 22 24 28 32 35 42 38 42 55
XC2 (H) 110 110 110 110 130 114.3 114.3 180 200 200
XC3 130 145 145 145 165 200 200 215 235 235
xC4 M8 M8 M8 M8 M10 M12 M12 M12 M12 M12
XC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 82 82 82 117 117 117
xC7 130 130 130 130 180 180 180 225 225 225
e Note:

1 ﬂ?x Rﬂ‘”]'f&:}[%l B ?W}{TE%‘J ’ im%‘ TR Z & a. 1.“3%” The size can be customized according. to the actual size

of the motor. Please contact our company if necessary

2. 'ﬂ?>< X F’Jl?ij‘\){'j' Fﬁ%%%%éﬁ NG %K'ﬂ"ég\ﬁﬁﬁ g1, 2. “% % For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw ﬁ}




RY—%8

@ BH220R-L1 ( —# )

#IHi% outputs

220*220

Size Schedule

BN Input

484 C7*C7

138 346 25

K 30 20

/
#180(h7)
975(h6) | |
|
[
| ~J

I4%4-HE #EX 18I

{1 ()]
$17 @) P
() ) = >>2
g ” -
= T R EE
§ { l g . 471
o
? B
@
o el
-
'= ?C2
3
1)
3
»n @75 ®75
M20x2.5P M20x2.5P
i
=
_E__ __>— W
795 '

42

Shaft Option 1(D1) Shaft Option 2(D2)

B45. mm

s
éﬁﬁj‘tﬁséj_ S1 S2 S3 S4 S5 S6
XC1H) 35 42 38 42 42 55
XC2 (H) 114.3 114.3 180 180 200 200
XC3 200 200 215 215 235 235
XC4 M12 M12 M12 M12 M12 M12
XC5 10 10 10 10 10 10
XC6 82 82 117 117 117 117
XC7 180 180 225 225 225 225
e Note:
| PESTREBATRA SN, o SRARD. I
2. MMM BARARST, Meg B RRMRTEAPTEM, 2 “% % For maximum size, the mounting motors vary in size.

ﬁ} http://www.cbtgear.com.tw




= RY—8
B H = H serles Size Schedule

@ BH220R-L2 ( —# )

EHi® outputs 521 BN Input g
: -
2020 138 383 kol
30 20 F).ﬂl"
&
105 I /I /\ (- -]
7 % q -_—
gl g I _ — =
3 § ﬁ
3 wn —
= \ @) g =
L _| N 1 ¥ (1)
il =]
[ [ ] i =
| . [ — D
Ol L, L o
o c
Tl 8
e =
=
9C2 =
S
=
?75 @75 @
+
ainE N
1 ijly N,
79.5
|42 |
Shaft Option 1(D1) Shaft Option 2(D2)
¥4%i. mm
BHiE Ik
Motor Mark
st AF s1 S2 S3 sS4 S5 S6
Input Size
XC1H) 35 42 38 42 42 55
XC2 H) 114.3 114.3 180 180 200 200
XC3 200 200 215 215 235 235
XxC4 M12 M12 M12 M12 M12 M12
XC5 10 10 10 10 10 10
XC6 82 82 117 117 117 117
xC7 180 180 225 225 225 225
P Note:
3 &k ER ” .- 1.4%%” The size can be customized according to the actual size
1. W x KTT{&’%‘ [% A K’J_/i "Im%‘ &3 H”" % ﬁ@ ;] o of the motor. Please contact our company if necessary
2. ’W‘X x F’Jﬂikﬂﬂ' s [%lgé,];f: 7] “TﬁR’J'é}%‘ kS 2. “% %”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw @






